/EHNER + EINER

1. Wie viele Zehner sind das?

50= 40=
10 = 60=
80= 90=
20= /0=
30=

2 Trage richtig in die Tabelle ein!

23 65 32

Z E Z|E|l Z/E Z E| |Z|E

27 3E

13 89 67 52 62

34 74 39 14 28




ZEHNER + EINER

27 2E

56

Z E ZE |Z/E |Z|E
18 89 55 41
Z E Z|E |Z/E |Z|E
51 79 24 16
Z E Z\E| |[Z|/E |Z|E




ZEHNER + EINER

Trage richtig in die Tabelle ein!

45 56 23 29

12 48 47 12 o8




ZEHNER+EINER %
Trage richtig in die Tabelle ein!

29 35 95 45 61

Z E Z E |Z E |Z/E| [Z/E

27 9E

77 16 84 22 53




ZEHNER + EINER (/,qi%
(el

Trage richtig in die Tabelle ein! %

42 19 89 92 95

Z E Z/El Z/E ZE |Z|E

84 58 12 47 66




Trage richtig in die Tabelle ein!

56 34 23 ol 77

Z E Z/El ZE ZE |Z|E

5Z 6E

24 15 95 52 67

45 95 83 12 61




